0330088 T35/ CINVAT DT 25% Bt Q0T 2- T8, BB -Gr.lll TZT ©05meN 33,
T8

TifaE e gt § 25% Frer F e @Y -2 § - 1 F 9 F e =wwT 2y
T 77|

Question Paper for Selection for the Post of Technician -Gr.lllin Level -2 against 25%
quota Mechanical Department / UBLS.
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903, FROR BRuSney/ FwafFAT F foru fAer | Instructions to the Candidates:

Te FB.A 1 908, 03B 100 B> B0DH,00 JBATR0, FODE WS, BPE,3 LoH0D B3, rieh
B0, 00NV,

TaF T ¥ v 1 s Rgifa g B ft 100 sgfeedi wat #1 yam G s awar g
REEICIEEC IR I EIR RS

The mark against each question is 1 mark. Any 100 multiple choice questions maybe
attempted. Questions on Official Language are not compulsory.

903,80 T&B0D [ATY JYWTO., WHENICOT FIONTI, JBROIVTBA T3, BTN, ©Pm YOE,T
TBODND,, A, BT BFPT ST 03T0YTe NOTIIT0,, WT0Heded
mmmmﬁ%wwwwmwwﬁwm%wwwwﬁquﬁ
Brese 7 o

Please do not write Your Name or any other identity in the Question Paper or in the
Answer Paper except in the columns provided on the first page of the Answer Sheet.

323,85 JB Nen wg, o3I, deR, 03,BTO,., 030Y[e De20D FLIONT, LTTTTEON®, VPRI
T [IVTOFEY =TT 03PYTBe 0630 AT IR UFPwD BTSN, STLTRNLY /
LT 307 BRODTIT YOI, TNER SR BoBNRTTY, JETEOIMIZ,T.

FeqfAy vt % 9T ¥, 5o § fft oft wohTe T gu S e, derstr, Merr ot R
ST T qREde arfe i aata T2 &) GET/AETTrE T arer I * forg g s R Srd
Answer to the Objective Questions, no corrections of any type like Cutting, Overwriting,

Erasing or Alteration of any type in the Answer etc or not permitted. Zero marks will be
given for the answers having Corrections / Overwriting.

93 DFNE WENAT $VE,0 IR,380.008 T3 ReR S8, 103,0%3e80.
s et 7 At 3 ST Faer &F ¢ I IRawr § & = A1fRul

Candidates should Answer the Questions only in the Answer Book supplied.

F9;00,5eL3T° THTY, TN E3eWST WHBODR,, BITNSRCIMIIDD,.,. TOLFOD FTTNONTD,., TBODREI
DD, WRWYS® FRET® B, V0T T RD,., AR 007 FROTEROILICE.
Wﬁ?mmwwmﬁwﬁ?@a mqﬁm%aﬁwqﬁwmﬁm
HIETSS I 99 T T o |

Use of Calculator and Log table is not permitted. Please do not carry your Mobile Phone
with you in the Examination Hall during the Examination.



3, WVI,OASH 90NFHTLB MITIBY BB, @ B3 ANDTRECIT BoFNY S0RTIe WoTd PONTIIV,
3., Y03,0MOMN SRSAPIRCIN,T. ‘

T IR ¥ ForT AT s 2T | worw w ¥ forw st st # & ww fAwre o e 39w
3 for e form ST

There will be Negative marking for the Wrong Answers. One third of the marks allotted for
each question will be deducted for wrong answers.

B, TI0D, YT TATTRY., BRoDRCINT. IS BRD,, 03T B5305/NT Dy, TONDEI
0N, T BT, WVS,e0% B, ON.,T° &3, 3,030 T[IT5200NTIE, T

wo7 o Brardt =7 # da Gy £ | B § Gl oft fenfy F amer #, Fo sweh g
T AT U TEHTT AT T |

Question Paper is set in Trilingual form. In case of any discrepancies in Hindi, please refer
to English and the English Version stays Valid.

FOLIE 0, 0300%, 4B, B LGB 235e) € oM e I T35 TN ;0 R3),T0 IR 0035030 30D N, TR ENT VT
1 FOLRR,PRIILO?
(D)D) () e3T3E ToFONDT (A) ST (B) 2.0

I BETSZINIZS ARTHS JUA el 8, A1 31U SAGTDH AN G IO [HUTDRD] A AHD FEIHTA
Y (@) U @) e TEEEQT) ) g 9ot

Which type of fire extinguish do you use to fight an electrical fire if a carbon dioxide extinguisher is unavailable?
A) Water B) Wet Chemical C)Foam D) Dry powder

e, 223,71 2308 Do N O erdeIB?

(®) NP FBEFBADS), OB e0€e3 GuBIPR 30BN VO3

F03BAEDN0BE 30, MN2(2) 9N, ToeH T30, 3R TIFR 0BILITIR, e 203 A0TRA
(2)ZT0HT,NEAN (B) MY O3 ITI,BNR TTOB 3 B 0223 TSR AN OB AR 5eI0T3 &R NN B

T YD HUS! 7 3 TSI STUD! T HIAT AT
(@)oEl & a1 5%, B R AL, B WA SRS g $ 91¢ U I $ST S| (W) THSAUHHT o 3R
I I SR DeHanuear B Rearsi@) 39 IEieiie gars I g, Ry 98! Ia-t dsi § 4rl

What should you do when your clothes catch fire?

A)  Stop where you are, drop to the floor roll against the floor and cool off with water after the fireisout B) Grab
a fire extinguisher and spray it all over yourself C)  Shoutforhelp D) Run as fast as possible in the hopes the wind
will put it out

0350a3T3ETTE). 55 €930, FOTBIGLOHETDANI?
(R)25083 (D)2ser" (B) D0E50,535* (B) Doadte

55 BT MAHR 5y ST ganm Ur?
(@) YR (@) ST ) 1

In which country was 5S invented?
A) India B) Japan C) Vietnam D) Norway

55 & 5 BOIrEhHaie)eY)?

(D) BRTDR), BIeh T, Da3EoRe, B)edtet3 RPN, BeIoedtzdA) 1) Ja3Foae,

4 | BredeB Re9ReD, BEiordtEOReN, R, BT (B) BEIecdtzOR, Ftedn, fePIe,
ABELHREN, BRAFDR,FENEE)BRODA (B) B30T RAPFD, DE3FDRELN, I, BRTIAD,
Rje0edeTOFEN

55% 5 TRUDIUR?
TP FAHIT, Biel, SHAIE, THH,HH H TN () Bie, SHCE], FH i, T, A FAB

What are the 5 phases of 55?
A. Shine, Shut-Up, Sustain, Sort, Standardize  B. Sustain, Sort, Standardize, Sushi mi, Shine C. Standardize, Sort, Sustain,
Shine, Set-in-Order  D. Sort, Sustain, Sushi, Shine, Standardize




ISO 9001 RAOWORDAT
() THe9eHE3 B3 BB (W) BOATDSF BB (J)BBRLNT 3T 53030, RITE 3 )e3¢ BEFOI 534, (Bd)
DI BRI,

I1SO 9001

(@) TV TeeH (@) TaaR01 ge (1) Seuiiie W Ud QR4 eYAyoed @) 39 4 $is J el

ISO 9001 related for
A) Quality management B) Environmental management  C) Occupational health and safety management D)
None of the above

ISO 0T3
(D) 903T0A,LO je3IetTTED FOA, () LOTTOA,, L0 &I BCTTED
03, ()F0A.0HRTNReI0XFTT(B) st B eee),

P
%WMWW@WWWW@WMW@W%@%

ISO stands for
A) International organization for standardization B) International standardization of organization C)  Integrated
standardization of organization D) None of the above

FYNTOI0eIH T 1948 BT WOF 3F0030, 9B 0N 20T0Z T3?
()3 463 Fo O350 OB (W) A BTa*(R)eJ2ToNEOHTIOITVE D (B) &30 cdedBReIe),

49 DHET 1948 F BRGFIAAFTH H3fAId3dre?
P SAYEIE) SV VSAT) THITT SrRfaaE) 399§ His o T8

What one of below comes under factories Act 1948
A) Railway workshop B) Diesel shed C) Divisional Office D)none of the above

FOODE A FTE) OBFFINF R, 3D, RENBRTOBOINDI?
(D) 330 VBBFTeINF 0, FORITHTD () D3,53¢ 33 DEIOHE), 3BT
(2) R0 3953003,23, DB R0, N DRI BTR T (B) )T BLeIe),

PHIIRE R gHCAINY g9 BT Ugdl HeH adlg?
) TRET TSRV UgHIRE) AT TR Y BRATERETHEUII 1 Urer $eb (F) 377 4 big Hl el

What is 1% step of avoiding accident in work place?
A) Wearing safety equipment B) Doing thing in one’s own way C) By observing safety precautions
D)none of the above

PPE dOT3BR?
()33 ,008 BOFHBI03(19)33,038 FOF RTINS () AD BB VT TN (B)
FLDI VW) BRI,

PPE FTE??
() fFRITT GRefTd (@) FRIT QR IUSRUEN AT TR&f IUH0I(F) $79 Y Hig Wt T&l

What is PPE?
A) Personal protection element B) Personal protect equipment C) Proper protect equipment D)none of the above

10

SRBPNTINTE) 0305 0 IT0BFR), ?
()23, (ﬁ)mw(&)w@ﬁ(&) FTO3,

o | 31 1 ThggaeR Tl 62
@) Wl (@B (M3 (7) dhe!

Which of the following is not an insulator?
A). Gold B) Glass C) Mica D) Wood

11

DB, ONTIOTIN, AL, RePRI TN
()3.3,030395255(2) DETR0, T T &3e0R O T (R) ORI BER PR, TR BIETeDR T (B)TOE S, 483T, T8I
WOENTP R, AOBRRITENR DT

U @ BRI Bl SYUBR TTH BT dligU
(@) FUHSMRIY @)U STHHR N STAB(A) PEATSSHRIES I 3d B [SSHId Hb

An oily floor should be cleaned by
A) Cotton waste B) Putting water C) Putting saw dust D) Spraying carbon dioxide or sand

12

ZodahR 03 eE2303NES
(R)VOF, BB eI, €353) HIF () VOGS, DI, 38 IT(A) BOTS,2A 03,
FTOWE R, 483F, 4T (B) RO, 3P DI), FITHIT

AP UAGHE (@)U, UDI 3R N (@34, ST SRR EAT) 38, HEATAR
BIETSTS SHIRIES (F) $U, THT 3R TFEIo




Fire is combination of
A)  Fuel, light and oxygen B) Fuel, heat and oxygen C) Fuel heat and carbon dioxide D) Fuel, light and nitrogen

%4 D3nReodDd
(®) 35703 TGS (W) 91,00 TGS () T3] DRI TGS (B) BT,E B
gUleed
(P)ACHI UM (M) WWWMWWW ca)m%frmamr
Hammer is
A) Shock tool B) Fire tool C) Cutting tool D) Side tool
14 | EOT FRIBERI?
(R)BRIBRT 463, (V) @@%é,f‘tuwﬁé‘»?md,d@oﬁ“(a‘ (2)RTY B P LD (BR)BOT® F* |
EOT ShABTaII3MNIR?
(@) R @)D NGRS SafeiT P (M)A SRER H ()SReb
What is meaning for EOT crane?
A) Monorail crane B) Electric overhead travelling crane C) Easy of transfer crane D) Derrick crane
T8030T3) 53¢POH ). B L0EFIR,BT 20835301 3BT T3CTDNI, AT,
15 | 'Q0THTTDHRNIT."
(R)3Bese*- (W)BBRse*- 2 (R)3T305e5°- 2 (R)3Brser-
TAD 59 U1NTE A BT e P 79 UTg q 8l a1 ST d1eT 3R 39 ' & &4 H o1 oKl |
@)VSE-U (@) Tee- & @MIega- W (@) JsYE- St
For every 5 th POH of coach paint should be removed up to bare metal and it is known as
A) Schedule-A. B)  Schedule-BC)  Schedule-CD) Schedule-D
o &8 POH 1} BeoE3orT TerePr3R.
() 3BRs*- (V)3BR;*- 2 (R)3Bee*- A (D)3Bzer- B
UISTEPIy________ Ufed fopar Sl ol
@) VSE-U @ Tse- & (ISE- H @VSE- &t
For every POH painting is done.
17 | A) Schedule-A. B) Schedule-B C) Schedule-C D) Schedule-D
B2, B3NP, 3R e 23T 209,
(D)DENTE T, (1) 2E30eNTA* FOR) (B)2IENNTT* BED (B) 2030 NIA° WP
Frh s 3 B
@) R s @) g ame g dane g st
Footsteps should be painted with
A) Bituminous Black. B)Bituminous Red C)Bituminous Yellow D) Bituminous White
18 md@(o&ddmﬂ%’@méﬁ%’?\?\mv Eyi@dﬂ%’@mm@cﬁau%’ﬁmmé_d?
()KE 500 )3Teo0 a30e, () C3W dZTmo a0 () stOZBHCRBR(R) stIS ey ey,
YRARREd A FHRad 3 & [haUehRepT DV IUUNT foba SITell 82
(@)KE TSR faR0 aTed (@) C3W fIaRul ared (1) ST aFi) $79 4 Bt T8l
Which of the following types of DV used in Indian Railway _
A) KE type distribution Valve B) C3W distribution Valve C) Both of the above D) None of the above
KE &35000e) 3087008 RBE), U- QORI TEToODE
()2F0©F BP 2.3 B3, LD T0BIRT®,E3LT 0.4 &.R/R 0.6 BP 2,3 W33, TR ok 23T°
19 | e9dy, 93, sREEN SCNEIR, B23, AT, (D)2.A W3 BB, 3.8 3.M19)/A0.0DE" 1 At 2350T3eN
(D) 2392807 FeNODNTE), BP Q0T CR 9D, 230eTE e (B)BPIOT ART 5 F23/30.e00¢? &[3R
2FOE 0TBEN
PS UPRIAIR® dTedd G- GAH P B
(@) 9T BP aTd B B! B ST 0.4 Reeiur/AH BP SEId Bl HH TP 9 e i Md dord| (@) dH.
gﬁﬁasm/%tﬁzwmﬁaaﬁl @ =RfT % R BP A CR TSI &Y () BP ¥ AR &I 5 b/ de
| '
Function of U-controller in KE type distributor valve
A) Accelerate the brake application by reducing 0.4 kg/cm? BP pressure in addition to driver BP pressure reduction
B)  Limit B.C pressure to 3.8 kg/cm? C) Charge CR from BP during charging D) Charge AR from BP upto 5kg/cm?
20 2365°e9 =3 ODATION CR 93, BP DOTBRR,T0,,,L3083 KE a3/F0T DV ST

() O30-AOHOZF () D-AONO0IF (R)e3T*-A0DOIT (B)F IR, 2,383




KE TR DV BT 9¢H il §b T PSR CR DI B I feTm1de HuT|
@) 3-Fe @) v-FrEs (M) sm-FiEe @gAddesadide

Component of KE type DV which will disconnect CR from BP during brake application
A) U-Controller B)A-controller C) R-controller D) Min pressure limiter

21

KE 537590 DV Oa3é33a3) CR 2.3, BR 0T 30N RBINBe3i0 369 ), A0 0350133
(R)BE) Borcdesoey, ()@ n@Beoc, (J) 3,03F w0, (B) 30D adwede B,

KE UR DV BIICH Sl CR Ga1d B! T cRed Jad B H Ha HT|
@) =9d Refe area @) RuRS dred @ ivRdT aed @) 379 8 318 4t 761

Component of KE type DV which will help to release CR pressure completely
A) Double release valve B)Quick release valve C) Quick service valve D) None of the above

22

FIAT 230603 T
(2)6.3T ()5.2T (R)5.5T (B)6.5T

FIAT @11t &1 9o &
(®P) 6.3T ({@)5.21 ()5.5T (4) 6.5T

Weight of FIAT bogie is
A) 6.3T B)5.2T C)5.5T D)6.5T

23

238, BONBRHODNTE),, BC QOTMoLBAMIT
(D) @ e30° () 2e30° (J)Red) (B)00IT03TED

3P RS & SR, BC ¥ g1 Widie
(@)UR (@R @S @)ardERo

During brake release air from BC goes to
A) AR .B)CR (C)DV D) Atmosphere

24

ICF 3233 3n0R av0sA
() 915mm (23) 840mm (&) 906mm (8d) 845mm

ICF TTeTe 1 PIATbaH e
() 915mm (&) 840mm (IT) 906mm (H) 845mm

ICF solid wheel maximum diameter is
A)  915mm B) 840mm C) 906mm D) 845mm

25

LHBBRE253€) 238330362083, TFOTBIIONT 3305 RE?
(d) 825mm (2J) 845mm () 906mm (8) 915mm

LHB BI9H UleU BT FRIYR O FTe?

(P) 825mm(™@) 845mm () 906mm (¥) 915mm

What is the condemning diameter of wheel in LHB coach
A) 825mm B)845mm  C)906mm D) 915mm

26

ICF Bo625°3¢) 98B R IPNTIE3LI BN P a3 e300 353 £ 025,53,y
() 25mm (2I) 22mm (&) 28mm (B) 11mm

ICF BTe IR dAU(ed &I A Gaisl HICTs dlg?
(@) 25mm(™@) 22mm () 28mm () 11mm

What is the Std flange thickness of wheels fitted on ICF coach
A) 25mm B)22mm C)28mm D) 11mm

37

LHB 230¢N0 ) Be X3 N Pedosa
() 915mm (2)) 920mm (R) 825mm (B) 840mm

LHB &7 & 73 Ufgdel oUT &

(P) 915mm (&) 920mm (M) 825mm (¥) 840mm

In LHB bogie diameter of new wheels is
A)  915mm B) 920mm C) 825mm D) 840mm
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16t €38, e*11es8,059, 58,035 152/154 mm €3NI
() 145/146mm () 152/154mm (&) 160/162mm (8d) 140/141mm

16t UGd P10 UaHaaRd o 152/154mm ©
(5)145/146mm (E) 152/154mm (T[) 160/162mm (¥) 140/141mm

Axle barrel dia for 16t axle is 152/154mm
A) 145/146mm B) 152/154mm C) 160/162mm D) 140/141mm

29

238 Be005 R 5330, 9PN VB3 NRIE AOGS
() 330480)8ed8830° (2I)839580S3£2 (R)eee3 382 (B) EDS oo Be o),

ufed &1 o 6 1 ur STaTe?




@)D MR @) cHa ()RR T (9) 399 9 Big H Tal

Wheel diameter is measured by
A) Micro meter B)Trammel gauge C) Wheel line gauge D) None of these

30

e9=30,&3 ;B¢ BTN R0DRRTOADFT DI
(2)23330533 (D)wBey (R)CBC S0553 (B)2eN)ISR0sS3

@ CRR SIS 9§ Sifel STdle
(@)UfRUeN (@)dHd (T)CBC SN (F)eRANRN

is checked with tyre defect gauge
A)  Wheel defect B)-Buckle C)CBC defect D) Door defect

31

ICF Bo2HRYR 03030300230 oMTFer3d, 2. BNAINCI?
(R)RRCPTITEBRE23CEDONT () ITF2ICDOM(R) CTRB (B) &I O3wedTBe e9e)

ICF PId] B! [bd YR b SR USH fobdl SITdig?
(@) TAHR JaRaaiaT (@) Irel faafar @ncTre (@) 399 | $is 781

ICF coaches are provided with what type of bearing?
(A) spherical roller bearing (B) plain bearing (C) CTRB (D) none of the above

32

Beter23erDOMT 2. PN VORI T3, T33O orrmen PR BRCT* IOTLTBNA DN
(R)€3¢BT° () 2D0RBTTITR (R) et T (B)2FOF

ARSI PIAIARD R Y& ANSeS SR Bl UPRPIRGRIUGHBINIG
(@) TR (@) TR EMNATER (9) Db

The inner ring of roller bearing is provided by type of bore for direct mounted bearing

(A) Taper (B) Cylindrical (C) Spherical (D) Square

33

BUete T® 23CDOTT €375 BJIFeTrIL), BER HEF® 313 T3

(R)TT°* DE3° (V)A 4B E5° ()N BDEF(B) ST Te 9
3 fie

@) e (@) wigsibe (MRigsgsiihe (@) 370 4 Bis 2t Tl

How the roller bearing is fit on the axle journal
(A) Press fit (B) Slide fit (C) Shrunk fit (D) none
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BeteT* 23,0000 SE), Feo, LITIBINTN, TFOTBIDROIHEN 9N Z5ed 3.
()Di 2.9 BRT,TOF, ()T LIFH (2)90,,TOVT,OF, (B)eseTe,s3030t e3¢5 ¥ TN
DFYOT Moz WAIE BT

ARSI A GEAEIRY BT Udl T HIerg PlATHATE |
(@) Di TAYURIEIT (@) YRV (1) SecTNASULIEUT (F)IRIST USIR F id e Hid o AT YHI=

To detect minute cracks in roller bearing is required
(A) Di penetration test (B) Ordinary light (C) Ultrasonic test (D) light with magnifying glass under ultra violate
light
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2)OHDONFRFR), FToARIN, 20D OTTFILVR 3305 eIIDRITH DY, 02N, D SBRATL T,
(@) 150°C (W) 170°C () 120°C  (BD) Oex)Te &9,

fafeg & i Ha T, gRfEa &2 i fsafm & aoaA A s
(@)150°C(@)170°C@T) 120°C(H) 370 q PIg ot 781

While heating bearings, ensure that temperature of bearing does not exceed
(a) 150°C (b) 170°C  (c)120°C (d) none

36

23eDOMN , 9B DT 4B 58 ORI TZO OV 0E32OTITID
(R)e)BOL3S3 LT (2)e)BOCS FTowe0s (D)e0D)Ts (B)eHEDTdeI,

faai &t MR Abad [y BRUI A &l Il 67
(@) AARHHR (@) i T @) guuiE)SRGIH

Premature failure of bearing could be caused by
(A) EXCESSIVE LOAD (B) EXCESSIVE HEATING  (C) CONTAMINATION (D) All of the above

37

CTRB O &E@peas 8837
(D)TVEIET €305, BEE BUeteT® 23DOTT (W) Tobr ez 30, BRLOT? LIDOTT (R) Todre3er® 30,803
BueteT® 23¢DorY (B) O &9 :

HiTeMRal® JURRY FTg?
@)BIETIaaRITR SRS ¢T8 AeR SR (NSUTRITIARIER SART (&) 373 I HIg 4t Tl

What is the full form of CTRB?
(A)Catridge tapered roller bearing  (B) catridge tapped roller bearing (C) Cartilage tapered roller bearing (D) None of
the above
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302336 F B CT 0BG LD
(216 2/3% () 20% () 18% (D) 25%

THURHH 900 SUTH WII] STd! 83K 1080 TUY | 41 Siidile, ATy UfAmawd Hi |
(@) 16 2/3% (@) 20% () 18% (H) 25%

A cycle is bought for Rs.900 and sold for Rs.1080, find the gain percent?
A.162/3% B.20%, C.18% D.25%

2, 0TINRBOIIVT 10% SR L3€) 535000635303, LTI Rs.140 B2, 2331e3000€3530T30, 4% €023550M0 8 30,

39 | dtDOHISHT?
() Rs.1000 (?D) Rs.1140 (&) Rs.860 (Bd) Rs.760
T® U2 10% P HUH TR SN [T1 39 Rs.140 1 B ST ST, T 4% BT TH SIcl [ANTaHT F18?
() Rs.1000 () Rs.1140 () Rs.860 (¥) Rs.760
A watch was sold at a loss of 10%. If it was sold for Rs.140 more, there would have been a gain of 4%. What is the cost
price?
A.Rs.1000, B. Rs.1140 C.Rs.860 D.Rs.760
&’)Q@&ocﬁo@@ﬁ,éai@dagmmmﬁwmaab’eﬁe‘&)‘hﬁaéﬁb?
(D)2 LTDRITTOR T 0T 00T LT OTDTBEFIT DR OT.

40 | (V)R SN OEBeo0eI0IT30N g3 3T BRI DR OTF
(2)2,£3DR)e330INTTE) FBa30e3i03T3207 5350 3T C32e3e DR OT
(B)2, £TORITBORITLE 0D, 5B RBRRITTDROT.
31T THSNTATRD Uich B U BT 3fd Hdl PIda?
(@)l B! T8 TATHABIY SR R ST MY (@) 3T Ve HIT & IR Had HIb (UKD ADUEID
HraHe TR 910 $IP (°) UTahdBUTaT- TR Fdd dib |
How do you end the main body of a formal letter? ,
A). By telling the recipient what he should be doing next.  B). By talking about the weather in your city. C). By talking
about the weather in the recipient's city. D). By expressing your love for the recipient.
Dtey) O30S FOWWFTE), LIPT,3S &BI) L2TONLIDTT ?

41 | (@) BesLNT,NeBE RO (2I) e03,,T7, BRTIDR (R)IBTBRTONETR, 5003 e85,
(B) S5a30€3°€930,200T9, 0>
FafiTaa 79 B [RUfd T8l a1 & W18 1T U forad 67
@) H HRIT e HAT (@)IAE P IR § Risbraa A1 (e uSkh &1 urdf Femifia Y (@) ThebEn
TP P
Which of the following is not a situation when you write a formal letter?
A). Apply for ajob  B). Complain about a product C). Invite a neighbour to a party D). Book an event
Read the following passage carefully and answer the following questions:
Passage :
Two hundred years after Malthus predicted that population growth would overtake food production by a margin of 256
to 9, the simple fact is that food production had always been ahead of the population growth. Malthus’ doomsday
prediction simply did not come true due to two major reasons: first, population did not grow geometrically and birth
rates in all Western countries fell during the 20- Century, resulting in very slow population growth. Over the past quarter
century, birth rates have been falling in the developing countries too. Second, modern agricultural practices and better
irrigation have resulted in tremendous growth in food production in almost all parts of the globe, with the notable
exception of sub-Saharan Africa. Therefore, at the global level, the Malthusian doomsday never befell on us.India’s
population grew by about two and a half times in the past 45 years — from 361 million in 1951 to an estimated 916
million in 1995. But during the same period, India’s food grain production grew by nearly four times — from 51 million
tonnes in 1951 to 191 million tonnes in 1995. As a result, the per capita food grain availability in India has gone up
considerably since the Independence. That is, the Malthusian prediction has not come true even in India.
Answer the following questions:

42 | Malthus doomsday prediction did not come true due to two major reasons. They are o

A). rapid growth in population and industrial development B). very slow growth in population and modern agricultural

practices and better irrigation  C). increase in per capita income and economic progress D). better facilities in health
and hygiene

43 In the past forty five years, India’s population has grown about

A). three and a half times B). one and a half times C). five times D). two and a half times
44 | The food production has always been.................of population growth.




A).slow B).ahead C).adequate D). stagnant

45

In the developing countries, the birth rate is

A).increasing  B). doubling C).falling D). static

46

India’s food production from 1951 to 1995 grew nearly

A). five times B). four times C). three times D). two times
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A SO NBERB DT LONTIRITT,,e0e00NE T30, 16 DINTE), BB IO a3, B LITHTORI0, 12
DOTNFE) 5350RITR. € BTNV 0T, L9TTITFLR 4 DINFE) FORTI, 0B w9,8. Tenew3dt, C
2,20, NONEEST ORI, ARILDSNFE) 5350 ITS:

(R)91/5 (V)92/5 (R)93/5 (®)10

AT FeU T RIFT P o Yaded 16 BTN [4BT Ul § AR B el B 12 f&H B2 IPdl 81 ¢ I Hag 4, IBM
Fad 4 feH s fFanfR, ¢ siba a8t S fran faad s
@) 91/5(@)9 2/5@N)9 3/5(F)10

A can lay railway track between two given stations in 16 days and B can do the same job in 12 days, with help of C, they
did the job in 4 days only. Then, C alone can do the job in :
a)91/5 b)9 2/5 c)93/5 d) 10
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X 5030, Y 3a0as0N 20 DINEEDI), 12 DINTE), 2,003 FORTI,EIIVBLTI). X

202,36 AR, TYT0LPRITAINI), 4 DINTI0IT Y
BIRBITOR T, TR RAPRIHTTE) FTI TN, FORDRITOODIE BFBODE) 3, ?
(Q) 6 (W) 10 ()15 (B)20

X 3R Y Uh BIH I HHTE: 20 e IR 12 oA T T BT Thd ¢ | X 7 Abd B JRIGATIR O 4 & a1 v 4 39
1Y HTH B LEIB T FaaD b SHGRHa! RIS fba=1 7Y deb Iar
(@) 6 (@) 10 (115 (F)20

X and Y can do a piece of work in 20 days and 12 days respectively. X started the work alone and then after 4 days Y
joined him till the completion of the work. How long did the work last?
a) 6 days b) 10 days c) 15 days d) 20 days a) 6 days b) 10 days c) 15 days d) 20 days
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BONTINTE) 30T ICF Zetnabgioniasene) ?

()3La5003BRBE3,, (W)€ 235° (R) 9T E3, (B)esT, &3 T3

(@) 3R (@) THH (MNP IR (A) R TES

Which of the below is not a component of ICF bogie?
A) longitudinal bar B) transom C)cross bar D)axle guide
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82T, LAODCE3 LA
(d) 2896mm (2)) 2986mm () 2800mm (8) 2900mm

TSI SNt Plaid o9 §

(P) 2896mm (&) 2986mm () 2800mm (¥) 2900mm

Wheel base of ICF bogie is
A) 2896mm B) 2986mm C) 2800mm D) 2900mm
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(305 T D0 EF* QTIVLNINTS
(D)0 3D AR D (D) TGeNT BRSNS () 20T 3 (B) A0

Dashpot is the part of
A) Secondary suspension B) Primary suspension C) Underframe D) Spring

7

TR0, sT8,30, DTLLID, TS, 3,T8e)33Tad) R)FTCRB 3T esN3.
(2)2) BT (W) R BFoT (’)  T)ToT (B)B TyTT

3R UHId SIGUPIST & S Pl FARY__ UPR & qoiaed gl
(®)d UHR (@) T UHR (MU IBR (@) TSR

The clearance between crown pad and axle box crown is type clearance.
A) Btype B) Ctype C) Atype D)D type

53

80ANTP,LNONC), 0T Do WRWeN03 8, eoFTIBOHO, B33
(D) 30TBREODBNF) (2I)2) DA AD, 507171&‘% (R) €393 23° (B)FeI033 T3 2350T8Ie) T

\CF 9T 3 UTii SR @1 __ g1 ] oIl &
(@) Ui () TR () S (4)SoIell §TT Tl




The lateral thrust is prevented by in ICF bogie.
A) Anchor links B) BSS Hangers C) Transom D) Equalizing Stay

54

©0BENRT® 330e3eN03 ICF 23eeNaDE), QOTBAWEORR DN
() e30TBRFORNRY) (V)W AF* DAY, sONNE R (A) €39 ,23* (B)Fe35033 T30, 2300TeH T3

ICF S § deaaiiid_ gRT Iied 2|
(@) U i (@) S IUHTHR TR (M) e~gH (a)JHTdT §91¢ 41

The longitudinal movement is restricted by in ICF bogie
A)Anchor links B) BSS Hangers C) Transom D)Equalizing Stay

55

LHB &3¢). 238, Q0B NYR0Bs9T3
(D)6 (D)1(X)2 (D)8

LHB H SRS B TR |
@)6 (@) 1 (M) 2 (A)8

There are number of brake cylinders in LHB
A) 6 B) 1 C).2 D) 8
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R0BH3I 5.7 R 35538,00¢), 40 mm e3P 53, 3T805T° D03 T ad &),33)e3I0 D LI B, BTS ?
() 1.6 Litre (2J) 2.5 Litre (&) 2.2 Litre (&) 1.9 Litre

IS S SaaRT § 40 Pl TEREWR UdB S W Ule B dd &1 9E 1 82

(P) 1.6 Litre(Hd) 2.5 Litre (IT) 2.2 Litre (¥) 1.9 Litre

What is the amount of oil per dashpot in 40-mm depth in modified guide arrangement?
(A)1.6 Litre(B)2.5 Litre(C)2.2 Litre(D)1.9 Litre
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DT D33, CatodRITHE,
(R)FD3O SR (W)E39)8,50° (&) eHD3NT0 (B)O0©

HeUgeiu U ol Yol Ta] HRdl &
@)ARHR (@) 2fdeq () dgamEd (@)dead 94

Centre pivot pin does not transmit an
(A)Horizontal load (B)Tractive (C)Breaking force (D)Vertical force
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8020TE,LNODBOT D), ,,0TF 2069, TR CTI -

(RBYD, ), BAT) (V)BYD), FOF), BAT ()P, DD, BAD (B)DP, FOa), VAT
e L e

ICF -
@)tian, e, &1 @)dien, a9, 83 @N)he, Hidl, 83 (@)9ba, ard, 80

The colour code of helical spring of ICF bogie is —
(A) Yellow, blue, green (B)Yellow, red, green (C)White, blue, green (D)White, red, green

39

FIAT 23,0¢N2. 03023 TR €3, R BR, , LT NHAT 33?
() 2.0T0 (V)T (B) &RT (B)TON,

FIAT ST & U Ulgdl A IR fha fep s 8id &2
F)U® (@) NdHE)IR

How many disc brakes on one wheel set of FIAT bogie?
A) One B) Two C) Three D)Four
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23NN I FoIor BIBITLE LI R VT TOTILID 2O BE ATLID?
(R)FT)FE N TW;0T0° () O30 Te;0:T* (R) €39, s00° (B8)Ye) O30ed) BRI,

a1l 3R BRETSIP o I VDTSSR BT ATH RT 8 ?
@) UUAH SR (@) TSR @NTRHESIR (4)5H J ®13 o 78

What is the name of shock absorber connected between bogie and car body?
AY Primary damper B)Yaw damper C)Traction damper D)None of these
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DeF B CNODICES L54?
(d) 2440 mm () 2696 mm (&) 2560 mm (B) 2570 mm

LHB It &1 Biad F1 ]2

(P) 2440 mm (H) 2696 mm () 2560 mm (¥) 2570 mm

Wheel base of LHB bogie?
A) 2440 mm B)2696 mm C) 2560 mm D)2570 mm
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23 NPT, LB OIN IR, D00 RDMIIT-
(R) 37,3 ;7 (D) B36e3,080° (3) Betee3eDorn (B)Ts0;T0,£3°

ufeal ot Ut nifa o1 Frifa far s g-
(@) UGS S (@)SHadicy () AR (d)S ie

Lateral movements of wheels are controlled by —
(A)Axle Guide (B) Journal centre(C) Roller bearing (D)Dash pot




63

£39)550O0TF Q0T BODEDRITYTO
(D)BRENCHLTPTELR 3o, (1D)B0CNTRTE3,FeP508,3 (¥) TFEFPTESID), (R)TY
OB ePBER,

%ﬂﬁﬂmﬁ?ﬁm
(@)anTt BRI INTHFT BT THERUT (1) SIEShH BT 4RI () 3STHH B FHRUA

Trammelling is to check
A) Corrosion of bogie frame B) Squareness of bogie frame C) Corrosion of underframe D)Squareness of underframe
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"2 30 083R 0B BT, IR0 0"
() 200223 RO (29) SODTEETINODD () LODBAMIDD R (B) 20RBIOD

HRA & U P! ASTHINT BT 82 (P) TSISITeros gat (@)mﬁhﬁ%ﬂ(ﬂ)@mﬁﬁ%ﬁ ()
Aychfafd g

What is the Official Language of Union of India?
(A) Hindi in Khadiboli Script (B) Hindi in Devnagari Script (C) Hindi in Dogari Script (D) Hindi in Maithali Script
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19670¢) 3T, B30 BEIVT 1963095 T, 320580 T 0, 0N ) d&RI,ed2IoN NP3 ?
() 8 eJ2JANNE) (2D) 9 J2JNNEH () 10 J2INNRSH (B3) 11 J2INNRSH

e 1967 T GG ITUNTSHRAIFIH 1963 H fd URTE? (P) 8 YRT (W) 9 URT (1) 10 YRT () 11 YRT

How many sections are there in the Official Language Act 1963, as amended in the year 19677
(A)8 Sections (B) 9 Sections (C) 10 Sections (D) 11 Sections
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9D TD TV ORN NN P )TV BITW00 25N F ), D RI,F BN P SINCETOAINGS?
() RTBITTICINSD (23) LTNTTCINYD () TON,TTCSND (B3) 2R TITTICIRED

ISHTSTIE & SFTER, HRA & ASAIP] e &F H aiiepd fobdr 71 82
(3 )&l & (§) Uid & (1) TR &5 (9) i &t

Into how many Regions Indian states have been classified, according to Official Languages Rules?
(A) Two Regions (B) Five Regions (C) Four Regions (D) Three Regions
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Ty ARBRE '00DDT' AveenesFDINII?
(d) 14th F&3,0200° (2J) 14th £9B,£200° (R) 14th DX (B) 14th 2293030

gl Efaa T FAT T S
(@) 14 RYGR () 14 TR () 14 AV () 14 FERA

When is “Hindi Day” celebrated every year?
(A) 14th September,(B) 14th October,(C) 14th April (D) 14th January
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9D TODF LTI ODTINY) 19760eT0T, e30Te3I0:3:3), )T LE BREH OISR 20TI33?
(D) BT ‘o’ (2J) RSB 2’ () BT3B ‘R’ (B) eI TR eI,

TSTHTST T 1976 HHTIR, ASHFAR FDHIER SIIHg [ & Hfaiasidl 62
(@) &3 T () &F <t () & (U) T A IS 0 T

According to Official Languages Rules 1976, Andaman & Nicobar Islands falls under which region?
(A) Region ‘A’ (B) Region ‘B’ (C) Region ‘C’ (D) None of the above
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[AVCIEAOE RIIB, A3 B
() ByT3eS ‘o’ (23) BTS2’ (2) BB ‘A’ (B) 230D T e Beese),

W ... i &3 & SAd TR (P) AT (W) W (T) TI8H ( °) FTHIBISHAG!

Goa comes under -------------- region.
(A) Region ‘A’ (B) Region ‘B’ (C) Region ‘C’ (D) None of the above
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E0ANTP,LLF T 4RO ROTBTAT
(D) 3.5 (2)) 4.78 () 5.8 (8d) 2.2

TSNP B P ASFST S804 ©

() 3.5 (W) 4.78 (1) 5.8 (H) 2.2

Riding Index of ICF Coach is --------—-
(A)3.5(B)4.78(C)5.8(D)2.2
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BOXN 330N POH ... 80T¥e9a3R o) s350rBeson3 3
(e2)12 (23) 9 ()18 (Bd) 54

BOXN A7 &1 U13NTd ... A & 3icRTd IR fhar orar g1
(?5) 12 (@)9(“)18 (YI) 54

POH of BOXN Wagon is done at the interval of... month.
(A)12(B)09 (C)18(D)54
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EICTDER,, 4 P IRBOCE, ......... Kg BRTRE) 30BN
() 05 (29) 10 () 25 (&) 20

ST o BT UG ... Kg ISR fohaT ST B 1
(@) 05 (&) 10 (TT) 25 () 20

Testing of alarm chain is done at  Kg weight.
(A)05(B)10(C)25(D)20
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ROBDBRLACHTARLIFREIT __ SN
(2d) 1030 (23) 1075 (&) 1105 (&) 995

HIERTS! & 188 B YeiaH IFR SHals ol ¢
(%) 1030 (M) 1075 (1) 1105 (9) 995

Minimum buffer height of goods wagonis mm.
(A)1030 (B)1075 (C)1105 (D)995
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TO58,230, L NONENF B3I,z t8 o NTIZ TS
() DTBBROR, B2,,£9 (29) DTTTBROR, GV, () AP0, (B3) ALY TGVH),

HEFSEN BT PEySy ¥ &1 gt ¢
(@) cadidIEl (W)eaaiserd () Behl3aNd (¥) RAa9swrd

Centre pivot of Casnub Bogie is made of..............
(A)Cast Iron(B)Cast steel(C) Mild Steel(D)Stainless Steel
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TO5R,L3RLNODE. ... 300on PRI 3.
() 203003 ()ReLeITOT () CTRB (B) DT 3w BeeIe),

L ECE LR P fSafe &1 3 fFar s g |
(@) SR (F) TATBR () CTRB (¥) 37 T B o Tal

bearing is used in casnub bogie.(A)Cylindrical(B) Spherical(C) CTRB(D)None of these
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EAT G AR TCOTNIC L o Tov) TR Kg/Cm? e3NT3(ed)5 (D) 6 () 3.8 (B3) 4

PRI HICEG .............. Kg/Cm? B 1(%) 5 () 6 (1) 3.8 (4) 4

Brake pipe pressure is Kg/Cm2(A)5(B)6(C)3.8 (D)4

77

edee e (DVRBIBTFHNFSTBIIT[LIO0IT ). (ed) 160042 (2) 1600+2-1 () 1599 (&) 16763

B (2 ufedl BTG (@) 1600+2 (@) 1600+2-1 (TT) 1599 () 167643

Wheel gauge(distance between two wheels)is............. (A)1600+2(B)1600+2-1(C)1599(D)167643
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a’yodsasﬁﬁzb&ﬁratz%ona ), BB T LI FTICLE ... Sialn
(ed) 1602m (2J) 1601mm (2) 1600mm (&) 1598mm

et diht PR © e &1 9HS ufedri......... 81(F) 1602m (F) 1601mm () 1600mm (9) 1598mm

The standard wheel gauge of passenger BG coaching stock is-----(A)1602mm (B)1601mm (C)1600mm(D)1598mm
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DL/ DTEE) A 0T, ROWORDATERFTON POH MoNese3Rdeday,?
(e2)9807%) (29)12801% (2)1830NY) (8)24 30NED

Hel/UauDY T §S $ig Hierg dieligasiemiy o nflx (@) HEH (@) 129814 (1) 1878 (6) 24781

What shall be the period for POH for a coach attached to Mail/ Express train?
(A)9 month (B) 12 month (C)18 month(D)24 month

80

o083 F0DITODRBRCTTRE)-()2JA (D) DA (A) B320R, 532 (B3) AD

FBR P TRaET B8 & ([@EA @i (MmesgEe (@) @S

Transportation codes of the pantrycar is—(A)BC(B)PC(C)WCB(D)CD

81

AT, 0NE) O3T0e3IINVFR TNV, ?
() T390, 83° (29)R 4T3 LBT° () TOT*e9230 2E T (B) T8N OT*

STETTUH el B I [oxdT SUTNT T8} gial?
([@)euUe (@URSRTR (MNHERIvD (°) STis

Which part is not used in ICF trolley?
(A)Dashpot(B)Side bearer(C)Shock absorber(D)Drag link
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ICF BT e3503 30058 O, EIBINT-




(&) 13,14,26mm (2)) 13,22,28mm (A) 13,26,38,48mm (&3) 22,26,32mm

TSHUE B BT AFG AT CH ST 6-

(P) 13,14,26mm (M) 13,22,28mm (1) 13,26,38,48mm (Y) 22,26,32mm

Std packing pieces of ICF coach is—
(A)13,14,26mm(B)13,22,28mm (C)13,26,38,48mm(D)22,26,32mm
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UST 06T 030380t Re3 30,83 E3?
(2)e303DB2ITHB) (29) BRTNSTTOBD )PP ONTBOR)TIB (B) D[ BeeIe),

UST USI&(01 SIH-T1S 1Y Ugar 381 6?2
(@) SR TR (@) STest TR (7) AGYATS &R (6) T4 F i3 2t 7l

What defect is detecting UST test?
(A)Internal crack(B)external crack(C)Airflow crack (D) Noneoftheabove
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O {OHARATAMNLSIATALACTOIATALS IADIS AW ST TN DRV I £ IATA TN S Lo
(ed) 1085mm (2J) 1100mm (&) 1105 mm (€3) 1030mm

YR O G0R & $g dP AUDdH HHD I HaTs &

() 1085mm (™) 1100mm (7T) 1105 mm (4) 1030mm

The maximum standard buffer height above rail level to center of buffer is -(A)1085mm(B)1100mm (C)1105
mm(D)1030mm
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SRCT3,BIVTR,AANE)., ICF BRI 20FO STIR, 030
() 1090mm (29) 1105mm (&) 1030mm (&) e[V BRI,

REU AT T, ICF B A FR B! FATHATHT 35 ¢

() 1090mm (") 1105mm (1) 1030mm (H)

In loaded condition,the minimum permissible height of buffer in ICF coach is—
(A)1090mm(B)1105mm (C)1030mm(D) None of the above
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BG O302,0TCTRCF®
) D0, FNPE)O NI HTBBR T 3305 RE), 9308 3 A3 535 TosAN (23 Tjed 530, 8CONRIIT)
(ed) 12.0mm (2J) 10.0mm () 11.0mm (&) 13.0mm

ool IR Usbelhid IR IR Ufedreial ol widesard § S8 fadl o(Uledr gAT d §7Y)

(P) 12.0mm (") 10.0mm (7T) 11.0mm (Y) 13.0mm

Permissible variations in wheel tread diameter for four-wheeled trolley on the same coach on BG is —(while turning the -
wheel)
(A)12.0mm(B)10.0mm(C) 11.0mm (D)13.0mm
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16.25 &7°e37 SR LBR,LNDSTSNT
(ed) TB20R,s22A® (2J)DA (R)TB2IA, 5220, (B) VO DA

16.25 T UGHAEIE ST 1 SUANT 6T ST 8| (P)Seeqolitd ([T (NSgeleedies (4) 9H T

The use of 16.25 tons axle load bogie is in—(A) WGS(B)AC (C)WGSCN(D) Non AC
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B 2T /3T A B, LT I BRI T T e0sA O30 T30 ?(ed) 910mm (23) 915mm (A) 930mm (&) 925mm

STEHIUE/IRITBHE BT 47 Ufea U T 82(F) 910mm (F) 915mm (1) 930mm (9) 925mm

What is the new wheel diameter of ICF/ RCF coach is-—-(A)910mm (B)915mm(C)930mm (D)925mm
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BRC2F o003 E3950F (AR) TOTDTsE (ed) 150Lit (2J) 200 Lit () 250Lit (£3) 300Lit

HEP a1 HSR (THR) PT &HFT 8(3) 150Lit (F) 200 Lit () 250Lit () 300Lit

Capacity of air reservoir (AR) of the coach is —(A)150Lit.(B)200 Lit.(C)250Lit. (D)300Lit.

90

DDOHTEEIE TR () 235550A° (2J) 236F, 4&° (2)2NTH & (B) EOTOIVEH TR L),

it 1 quiey B()aEuRT (@S TSy () GSigs UTRy () 399 A BigH Tel

The full form of BP is—(A)Bypass(B)Brake pipe (C) Bent pipe(D)None of the above
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T80T TEFRTE) 3 ;e 3,008, ?(ed) 50.0mm (2J) 40.0mm () 75.0mm (€8) 90.0mm

29rute # dd &1 TR T 22(F) 50.0mm (F) 40.0mm () 75.0mm (€) 90.0mm

What is the oil level in dashpot?(A)50.0mm(B)40.0mm(C)75.0mm(D)90.0mm
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"AC-2-63000°% LHB B@CF320 39,8 s0GsEeda),? () 54 203 (2J) 72 203 () 46 WIT°F (B3) 64 WT°E

AC-2-FETR LHe Baa 99 &l fhat @2 (@) 54 99 (@) 72 99 (71) 46 7 (4) 64 FY

What is the berth capacity of AC-2- Tier LHB coach?(A)54berth(B)72berth(C)46berth(D)64berth
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LHB TR C2FITICDB/TOVTI, (ed) 21770mm (2J) 21337mm (A) 23540mm (&) 25540mm

LHB BT BT IR P! AE18 8(P)21770mm (F) 21337mm (7T) 23540mm (H) 25540mm

Length over body of LHB coach is—(A)21770mm(B)21337mm(C)23540mm (D)25540mm
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LHB BRCFINDR T4 R0BTY () 2.75 (2J) 3.25 () 3.65 (8») 3.45

TAUTE B BT AP THITRIGADIP &(P) 2.75 (T) 3.25 (7) 3.65 (9) 3.45

Maximum ride index of LHB coach is —(A)2.75 (B)3.25 (C)3.65 (D)3.45
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303030r3),23 3188363204 vvvvevrrrenes B30I
(Q)TBB,DE3 (23) TO93 () LINI (B) SO IRV TR,

AR ! Qi1 B! Uil P Hel ol &
(@) SaIIET (W) BRI (T1) el (9) 370 J B3 it T8l

The property to drawing the wire is called............
(A)Ductality (B)Hardness (C)Stiffness (D)None
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Boee3, 0N e 93 ,ONRPMIT
() T (2))2.3.3 (A)DTRBR (B) EEDI B BRI,

Pres ARTH T faT ST () ST (J)aaTd (M (9) ST Big H T8

In cold welding......... is applied.a)Heat b)Pressure c)Both d) None
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e33U0CTE DC dT3053 BTN e FTOWINT
(D) ATO003,F (2)) IT0003,F ()33, (B) DI B Beese),

e SR fgga s &1 ... $[a8 () HRIHD () THRIHD (de (°) T78 J FS ot 781

Anode ispole of DC power supply.a)Positive b)Negative c)Neutral d)None
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BT 90, ARCE, 50 BLTOTS ..ovvvvveeeae 203, 4NF R, 3BV PRSI
(e2)e03,TEED (29)30T,20BANT)TN (2)TTNILIT (B) s[O3 BRI,

T BT IUTNT Tiee bt SHarel Tdg] Bl Jh pieTy fpaT Wt 21
(@) SHTftBur (@ysiTer™ (7) frgem () 378 IS ot 7

Fluxis used to prevent...... of the surfaces to be soldered.
a)Oxidation b) Rusting c) Melting d) None
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R EITOE 0 ) 350303 0D TVRLRNF N, 3, 2350 T82ITITIV?
(R)aDee3, 4 (29)e3030F () O3 (B) DI TBREIE),

S udteror & 59 YR HEIT HT UdT IR S THT 82 () g (W) AR () HORT (°) TGS -=T

Type of defects can be detected in DPT test?(A)Surface(B)Internal(C)Hardness (D)None of them
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LHB B0¢233€) daR),FoT*e920 2OF TN F3,20 ¥R eond3 37 ()10 (2J) 8 () 18 (&) 12

LHB BT H fhaa TicpUssiieR 1 IUTNT {541 SITaT 82 (&) 109) 8 (118 (9) 12

How many shock absorbers are used in LHB coaches?(A) 10 (B) 8(C)18 (D) 12
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2B RENEDNB) T2 BRBIWAOTTE ROV TO T 9230 RIF O NP BRTD?
() TYTEeNT (2)D,,3E0 () G350 (&) ECD TR BRI,

a1l 3R PRETS! P od oS UlbUssIaR BT A1 FTE?
(Tt (@)HTefie (1) 41 (9) IS $is o @l

What is the name of shock absorbers connected between bogie and car body?
(A) Primary (B)Secondary (C)Yaw (D)None of these
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BINSINTE) 033059 BT R O, OTF VT BOFBOIDNT?
()e37,6)_OTF (29)2 £ OTF (2)BRR,.07F (B) 2.3 BRRODAG €3, 0

o ofad 1 @ S WoraiesT B 3aTevl 8?2
() ITHATET (@B TeeT (MUl (9) caabariftfeafesn




Which of the following is an example of fusion welding
(A)Arc Welding (B)ForgeWelding (C)Resistance Welding (D)Thermit Welding with Pressure
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B3 (B2Y) L9BOHEON FEIT() 238D (2)) B2, () e3TIF S (B) TNEDIOIVI B LY,

Fitaa (S AU IHE ¥ ()RR (T) ST () SR () FTHAD IS

Decible(db)is a unit to measure(A) Light (B) Sound (C) Frequency (D) None of these
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RBO B TR TINOR E0353(ed) 3801 (2J) 4 301D (R) 230NN (B) 530NH

AW R ury BT Sfimdd dudi(®) 3HEN (F) 4781 () 298 (9) SHBIA

Maximum validity for a privilege pass
(A) 3months (Halfset) (B) 4months(full sets) (C) 2months(halfset) (D) 5months(Full sets)
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2590336), 95350002 N RBIBAFeDBY R FTOTO0T
(9)3 463 £2300 T (29)23eda3° (2)Be36dE O/ATB22/, 500 (B3) Addy

YRAH YT AN & Pl J&H UTUBRY B &2
(HRATIS (F)SHTH (MSISHRTA/Hrssygud (6) ddiai

Who is the competent Authority to grant study leave with in India:
(A) Railway Board (B) GM(C) DRM/CWM(D) CPO

106

035039 ABR PR 3,3 02 DB 0TI
()e382307e) (22)e0RTIS0NE) (2)TOEN, 30N (B3) BOSJEIRTINRFD

e 3af ¥ iax Rgasias Wipd a1 ST Gbdl 3(@) B:9EH ([) THAgH () IRASH (4) Tssfe

Within Which period paternity leave can be granted:(A)Six months (B)three months(C)Four months(D)15 days
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BR[O DT, 3200 TOOIVE TTRT A eI 3CDEIT3 5T BI0330TI?
() B2, DA s a3 F BFBOPTOO (22) DO NBT)HoIe35e379,:T T (SDGM) (A)
3000092527050 9D TO (MRA) (B) &)503e35e3 A0, E T30 (GM)

& TSTHTST HTaT-aa WitiTad e Hie ?
WW (TSiEH) (@) IRFSTHRTIEYS (THSISITH) ( 7T) FERSHWSISRT (THSIRY) () HeWES
)

Who is the Chairman of the Zonal Official Language Implementation Committee?
(A) Additional General Manager(AGM) (B) Senior Deputy General Manager (SDGM) (C) Mukhya Rajbhasha Adhikari (MRA)
(D) General Manager (GM)
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TR, 32,90 3TBA 0eITOSTBROEIBTBRsFIE), DRI ZIORNPeS?
() BOTVEN, () VR,3,-TEY () BOSOE (B) BRI GTD

A B AU B 313 3T ST (a1 TSI B GAlaG (bl 71 6?
(@) 9158 () I159 ( 71) 3ORE (°) Uxe

At present how many languages are enlisted in the Eighth Schedule of the Constitution?
(A) Fourteen (B) Twenty-two (C) Eighteen (D) Fifteen
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5%, 32BN Y AADHN F3,0350 559N 0NCTDA DA B)? (ed) 1976 (2)) 1987 () 1960 (83) 1963

Ty e &Y e uria fear T A2 (@) 1976 () 1987 (71) 1960 ( ) 1963

When was Official Languages Rules passed? (A) 1976 (B) 1987 (C) 1960 (D) 1963
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0PI, LI0NEBOATTON, BRBORBELE, B 03I, SHE), D& ZIORNPADA®,E3,e3?
(65) BOTEN, (22) BOSLE () BOSF0E (B) BB, 3 -DBB

T AaYT P ST T AT, SR A M1GaT gt foha-l HTSTSH Y =feer foba mran ure
() FNeE () U (TT) SORE (¥) SISy

When the Constitution was adopted, how many languages were included in the Eighth Schedule initially?
(A) Fourteen (B) Fifteen (C) Eighteen (D) Twenty-two




